06.10 Bo3xyxoBos, 3aiHHE KOKYXH ABHIATEJIs

6-1'.')




Ne B Ne o
HaumenoBanue [Ipumeuanue
pPUCYHKE| KaraJory
001 | 2979200824 |Bo3myxoBoj
002 | 3091113150 |boaT M6 x 16 ISO 4017 - 5.8 MKS 720
003 | 3111100590 [I"aiika M6 - 5 MKS 720 I1SO 4032
004 | 3111105350 |IIlaiiba 6,4 CSN 02 1702.15 MKS 720
005 | 3111106670 |[1laiiba 6,6 CSN 02 1727.1 MKS 720
006 | 3111108830 [[llaiiba npy>kuHHAs 6 CSN 02 1741.05 MKS 720
007 | 2973960104 [Pebpo HMKHEE
008 | 2928520094 |epxatenn
009 | 3091113150 |boat M6 x 16 ISO 4017 - 5.8 MKS 720
010 | 3111105350 |[laiiba 6,4 CSN 02 1702.15 MKS 720
011 | 3111108830 |laitba mpyxuHHas 6 CSN 02 1741.05 MKS 720
012 | 2989360784 [Koxxyx 3aaHuii
013 | 3111105360 |[1laiiba 8,4 CSN 02 1702.1 MKS 720
014 | 3111108840 |1laitba npyxuHHas 8 CSN 02 1741.05 MKS 720
015 | 3091113270 |bont M8 x 16 ISO 4017 - 5.8 MKS 720
016 | 3111106680 |[1laiiba 9 CSN 02 1727.1 MKS 720
017 | 3091113310 |bont M8 x 25 ISO 4017 - 5.8 MKS 720
018 | 3111100610 |T"aiika M8 1SO 4032 - 5 MKS 720
021 | 2989360874 [Koxxyx JIeBbIii
023 | 2989360854 |Kosxxyx neBbIit
024 | 2989360864 [Koxxyx BepXHHIA
025 | 3111105360 |[1laiiba 8,4 CSN 02 1702.1 MKS 720
026 | 3111108840 |1laitba npyxuHHas 8 CSN 02 1741.05 MKS 720
027 | 3111104750 ["aiika - Gapatiek M 8 CSN 02 1665.0 MKS 720
028 | 3091113270 |bont M8 x 16 ISO 4017 - 5.8 MKS 720
029 | 2954163504 [ITpoknaaka
031 | 2925100314 |Ilnanka GokoBas KanoTa
032 | 2954163794 |JlenTa yninoTHUTeIbHasi OOKOBast
034 | 2954163524 |JlenTa KperICHUS MpaBast
035 | 5484280710 [3aknenka monas 3,5 x 11 CSN 02 2039.06
036 | 3091113120 |boat M6 x 12 ISO 4017 - 5.8 MKS 720
037 | 2925100354 |JlenTa 3axuMHast
038 | 2954163614 |JlenTa ynjaoTHUTEIbHAs JeBast
040 | 3111100590 [I"aiika M6 - 5 MKS 720 I1SO 4032
041 | 2925100314 |I1nanka GokoBast KamoTa
042 | 2925100354 |JlenTa 3axuMHast
043 | 3091113150 |boat M6 x 16 ISO 4017 - 5.8 MKS 720
044 | 3091113120 |bonT M6 x 12 ISO 4017 - 5.8 MKS 720
045 | 3111108840 |[llaiiba npy>kuHHAs 8 CSN 02 1741.05 MKS 720
046 | 5484280710 |3aknenka monas 3,5x 11 CSN 02 2039.06
047 | 3111100590 [I"aiika M6 - 5 MKS 720 I1SO 4032
048 | 3111105350 |Ilaiiba 6,4 CSN 02 1702.15 MKS 720




	06.10 Воздуховод, задние кожухи двигателя

